RERREZSIVIRERBRISOVTERER-A)

WEEES S L
1255
100Bq keZ X 51 D0
BRERE

No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE
Bqg. kg Bqg. kg Ba kg
1 B R6.11.12 = BmHEHE9(<9.5) BREE9(<74) :fanhcac
2 H#™ R6.11.12 =S| BREET(<1.7) BmHEHE9(<6.7) BmEEd
3 Bt R6.11.12 = BRHEET(<L7.6) BRHEET(<L7.3) BRHET
4 H{t R6.11.12 =S| BRHE9(<9.3) BRHE9(<6.8) BRHET
5 kS R6.11.12 4R BRHE9(<8.6) BRHE9(<L7.8) ;- darkcac
6 =EShi R6.11.12 =S| BRHEI(11) BRHE3(<L7.8) BHEEd
7 Bt R6.11.12 =S| BRHET(<9.9) BRHET(<8.0) BRHEET
8 Hf™ R6.11.12 45 BRHET(<9.1) mHEtH9(<6.8) - Janpcac
9 Hf™ R6.11.12 =S| BmHEHE9(<8.0) BREE9(<7.1) - Janpcac
10 HfH R6.11.12 =S| BmHEHE9(<8.1) BmRHEHE9(<8.0) BmEEd
11 Bt R6.11.12 = BRHET(<9.9) BRHET(<L7.3) BRHET
12 =ESn R6.11.12 =S| BRHE9(<6.2) BRHET(L7.1) ;- darkcac

BRBEEERICET —HBESOEEE 2L :100Ba/kg(HL-134, 2D L-13TDHEE)




